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Note: (a)All questions are compulisory.
(b)Marks are indicated against each question in square brackets.

(¢) The candidate is allowed to make Suitable humeric assumptions wheyé

solving problems

i.  Isitpossible to make 4 transisto
back? Justify

il. ~ Which of the transistor CYL,
iii.  Which cut-off of cy

iv.  The intersection g

oad line with the given base current is called

v. For sudtcm;#g%;pr 1 of a BIT, transistor must operate in region,

X #Siefion B (Long Answers : 4 x5 =2 marks)

2 [CO2]
' common emitter transistor and common base transistor current gain. Find
%, the relationship between two gains. (1]

A transistor has a base current 100pA, Iop =12 HA, and o = (.95, Calculate
emitter current and collector current, [2]

iii.  For common emitter configuration, collector current of a transistor is 90mA and
its current gain is 65, Calculate the value of base current and emitter current,

(Note : use only current gain formulas). (2]
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il

il.

ii.

[CO2]
Fig 1 shows the NPN transistor circuit. If the voltage across the base emitter is
0.6V, the voltage between collector emitter terminals is 0.35V, and dc current
gain is 80. Find the operation mode of the transistor. 131
Sita wants o use common emitter configuration in her project in different

regions. Explain her different regions with

the help of output characteri

[CO2,3]
Why does the common €t Jistor provide large current amplification
while the common base \ ggain does not? 1

ybrid equivalent circuit of a common emitter

configuration. Jhnts to evaluate voltage gain and input resistance. [2]

What do

m Le the distortion output in amplifiers? Explain how you can
n% torted output of an amplifier? 121
ndigipried oup P

obtain g

(C02, 3]

or voltage divider bias circuit of an NPN transistor, calculate the values of Ry

. and Rc . Assume IC =1 mA, VCE = 2.6V, Rz =10 kQ, Rg= 3509, Vcc= 6V, VBE

=0.65V, 5= 100. [3]
What is the Stability factor? Derive the expression for Stability factor. {21
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